
TURNTABLE 

218



ill SWINGMASTER CORPORATION 
	

PARTS BOOK 

MACHINE 
	

SECTION 
	

21 

MODEL 181 SWINGLOADER 
	

TURNTABLE 

 

ASSEMBLY 
NUMBER 

 

DESCRIPTION 

 

 

1801257 

 

TURNTABLE INSTALLATION 

 

ITEM 
NO. 

 

PART 
NUMBER 

  

DESCRIPTION 
QTY 
USED 

2 
3 

1801361 
1800481 

TURNTABLE ASSEMBLY 
H.H.C.S. 	3/4-10 X 2 3/4" LONG 

1 
9 

4 1800520 HEAVY HEX NUT 3/4-10 15 
5 1800426 H.H.C.S. 	3/4-10 X 13 1/4" LONG 4 
6 1800482 H.H.C.S. 	3/4-10 X 3" LONG 2 
7 1800558 3/4" FLAT WASHER 30 

• 

SWINGMASTER CORPORATION 
• 11415 MELROSE AVENUE 

FRANKLIN PARK, ILLINOIS 60131 

April 22, 2010 

TEL:(847)451-1224 

Page 1 

219



trAirali 
ommilim 

11■■11 

=WACO 

UNLESS 01111311115E !EOM 

3 PLACE DEt (MO 41— 
a PLACE DEOMALS 4./— 

MIMES 
1 PLACE =MALY .1.— 

SWINGMASTER CORPORATION 
11415 IIBROSE NOME 

MAIM PAM. LIAM 00131 
[WM 451-1224 

TURNTABLE INSTALLATION 

MODEL 181 
BEE 31101011ASTER 3PECEICA11014 
0-1 PON TOODUNCES ROPED 

ONDOICMS ME 00 11101ES 
00 NOT SCALE DRAMS 
SCALE. X 

ORAVING 410. MANN WO J.X. 

cam 4-22-10 D1-13 

• 	• 
220



NOTE. LUBRICATE AND TORQUE ALL BOLTS TO 
159 TO 175 FOOT-POUNDS. 

LOCATE BEARING BALL PLUG ON INNER RACE HERE. 

71XERAMNDI 

UNLIVIS one/.MMISE SPEWED 
FRACTCND 

PLAN D
MON  
ECNALS +/- 

St PUCE IS +/- 
I PLACE CCCNALS +/- 
Ames 

SCE SONNNS1171 snercaloo 
101ZRAMO3 MOT MONO 

DYMOND MEN Nan 
DO MOT DMZ MAIM& 
SCALE. v. 

SWINGMASTER CORPORATION 
720 DOUSTAAL DNLN 

ELMS= MANN no 

TURNTABLE ASSEMBLY 
MODEL 181 

MAIN We JA 

DAlt 31-20-01 

DRADMID MO. 

D1-12 

• 	 • 
221



• SWINGMASTER CORPORATION 	 PARTS BOOK 

MACHINE 	 SECTION 

MODEL 181 SWINGLOADER 	 TURNTABLE 

21 

ASSEMBLY 
NUMBER DESCRIPTION 

1801361 TURNTABLE ASSEMBLY 

ITEM PART QTY 
NO. NUMBER DESCRIPTION USED 

2 1800613 TURNTABLE BASE WELDMENT 1 
3 1800367 TURNTABLE BEARING 1 
4 1800133 TURNTABLE TOP WELDMENT 1 
5 1800870 12 POINT FLANGED SCREW 5/8-11 X 2 3/4 LG 30 
6 1800556 5/8" FLAT WASHER 90 
7 1800518 HEAVY HEX NUT 5/8-11 30 • 8 1800871 12 POINT FLANGED CAP SCREW 5/8-11 X 5 LG 30 

•SWINGMASTER CORPORATION 	 April 22, 2010 
11415 MELROSE AVENUE 
FRANKLIN PARK, ILLINOIS 60131 	 TEL:(847)451-1224 

Page 1 

222


